YConditions Limites gauche et droite de
Neumann discrétisée par un schéma centre

;> restart : with(LinearAlgebra) :
> L:=3; H:=3; ndx:=3; ndy:=3;
L:=3

H:=3
ndx:= 3
i ndy:=3
> Tb:=100; Th:=40; o[g]:=10; o[d]:= 20
Th:=100
Th:=40
ocg:: 10
o,:=20

L, - H o AX

AX =
Ay:=1

> Ty = ndx +1;

= ndy+1;

Jmax

> N:=( imax_z)'(jmax_z)—i_z'( jmax_z);
N:=8

(> for i from 1 to Tnax @0 T[1, 1]:= Tb end do;

L ,:=100
T, ,:=100
I3 =100
I, ,:=100
> for i from 1 to i, do T[i, j,.]== Th end do;
L ,:=40
T, ,:==40

T3,4::4O



|_ I, ,:=40

k:=1":
T[0, 1]=T[2, 1] —2-a[g]-Ax :
T[O jmax] = T[Z jmax] —2-a[g]-Ax:
T[ max+1 1] T[ max -1, 1]+2 ofd]-Ax :
Tl Tnax T1s Jnax] = T[Tnax =1 Jnax] +2-0ld]-Ax:
for j from 2 to j,,, —1 do

10, j]=T[2, j]—2-a[g]-Ax : ,

Eqlk]=T[2, J+1]+T[2, J—1]+T[O, J+1]+T[O, j—1]+2- >~ B

1+[3
. . 5. g2 —1 . . .
(T[2, 31+ T[0, 31) +2-TBZ-(T[1, J+1]+T[1, j—1])—20-T[1, J]
=0:
Temps[k]:=T[1, j]:
k = k+1:
for i from 2 to i, -1 do
Eqlk]:==T[1+1, j+1]+T[i+1, J—11+T[1—-1, J+1]+T[1
. 5% . . . . 5. g2—1 . .
-1, j-1]+2- >(T[1+1, J1+Tl1 -1, j)) +2-————(T[1, ] +1]
1+P 1+B
+T[i, j—1]) —20-T[i, j]=0:
Temps[k]:=T[1, J]:
k = k+1:
end do:
T[7 nax T 1> J] T[imax—l,j]—i—Z of[d]-Ax :
Eqlk] == T[T 0+ 1, J+1]|+T[1 5+, J 1]+ T[T0—1, T +1]+ T[Tax

2

2

. 5—B . 5- -1

-1, j—-1]1+2- (T[i...+1, jl1+7T[1..,—1, F])+2-—————
] 1+B ( [max ] [max ]) 1+B2

-(T[7max, ] —|—1]+.T[ max J—l]) —20‘T[1max, J]=0:

Temps[k] = T[7,., J]*

k = k+1:
end do:

[~ for k from 1 to N do Eqg[ k] end do;
2T, 3+480+8T, ,+4T 3—20T ,=0




12042 T, ,+8T, 3 +4 T, ,—20T, 3=0

240+ Ty )+ T, , +4 T, 3 +4 T, 3+4 T, ,—20T, 3 =0

240+ Ty ,+T) , +4 T, 3 +4 Ty s +4 T, ,—20 T, ;=0
480+2 T, , +8 Ty 3 +4 T, ,—20T, ;=0

> N:=k—-1;
N:=8

> Eqs = {seq(Eqlk], k=1..N)};

—20T, 3=0,2T, ;+480+8 T, ,+4 T, ;—20T, ,=0,2 T, ;+840+8 T, ,
+4T, 3201, ,=0,240+ T, ,+ T, ,+4 T 3 +4 T, 3+4 T, , —20T, 5 =0,
240+ Ty ,+ T, , +4 T, 3 +4 T, 3 +4 T, ,—20T;, 3 =0, T, 3 +600+ T, 3 +4 T ,
+4T, 44T, 3—20T, ,=0,T, 3600+ T, s +4 T, ,+4 T, , +4 T 4
—20T; , =0}

[ > Tmps := [seq(Temps[k], k=1..N)];
Imps:= [T, 5, T) 0 T3 00 Ty 0, Ty 3, Ty 3 T3 5 T 5]

=> SolT:= solve(Eqs, Tmps);

216280 237940 256840 295660
SolT:=||T, ., =522 = L2, = 8200 o 22200
° [[ L2= 3003 * %22 3003 ' 32 3003 42 3003 ' L3
_ 156220 _ 177880 _ 196780 _ 235600}}
3003 ' %3 3003 ' %3 3003 ' 43 3003

> Egs := [seq(Eq[k], k=1..N)];

+4T1,3—-20T1, ,=0,T, 3+600+ T, 3+4T1, ,+47T1, ,+4 713 3—-20T; , =0,
213 3+840+8T13 ,+4T, 3—20T, ,=0,120+2T, , +8 T, 3+4 T, ,— 20T 4
=0,240+ T3 ,+ T , +4 T3 3+4 T 3+4T1,,—20T,3=0,240+T, , + T, ,
+4T, 3+4T,3+4T; ,—20T; 3=0,480+2T; , +8T; 3+4 T, , —20 T} 5
=0]

=> M, R := GenerateMatrix(Eqs, Tmps)
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M, R:=




